
Grimmspeed 1 

 
GrimmSpeed License Plate relocation kit 

Installation Instructions 
Manual 300014 RevB 

 
All GrimmSpeed products are intended for Off-Road use only. Park your vehicle on a level surface. Fully engage the parking 
brake and put wheel stops on the front and rear wheels to keep the vehicle from rolling. 
Warning (read before installing): 
Before moving forward with the setups outlined below, insure that you have the experience to properly modify your car.  If 
not, please consult a professional.  Without a proper install you could possibly damage your engine. 
 
Car Wash Warning:  The GrimmSpeed license plate kit holds up well to most car washes (especially touch-less car washes) 
but some automated car washes that utilize brushes can hook the license plate kit and cause damage to the kit or your car.  
When in doubt, remove the kit to avoid damage or utilize a touch-less car wash. 
 
Contents: 
(1) License Plate 
(1) Tow hook bolt 
(1) U-bracket 
(2) Spacers 
(1) M8 x 25 bolt 
(2) M8 x 12 bolt 
(4) M5 x 6 screw 
(4) M5 x 12 screw 

Installation 

1.  Locate the vehicle's front tow hook location. You will need to remove a tow hook cover on the 
passenger side. NOTE: For 04-05 Subaru Impreza, you will need to remove the fog light bezel or cover.  
The cover can only be reinstalled with this kit if a clearance hole is made. 

 



Grimmspeed 2 

 
2.  Apply grease or anti seize to tow hook bolt.  Using a 17mm socket, tighten the bolt to approximately 
45 ft. lbs.   

 
 
3.  Depending on the model, you may need to use one or two spacers that are included in the kit to 
properly space the U-bracket from the bumper cover.  Using the M6x25 bolt, thread it into the tow hook 
bolt with the U bracket and spacers (as needed) in between.  The spacers (as needed) will be placed 
between the tow hook bolt and the U bracket.  Loosely tighten with a 5mm hex wrench.  

 
 
 
 
 
 
 
 
 
 
 
 
 
 



Grimmspeed 3 

 
4.  Now you will choose the correct orientation of your license plate bracket.  You can choose the height 
and side to side location of the bracket by which row of slots you thread the U bracket bolts into.  You 
may need to flip the license plate 180º to get the desired height.  When the desired location is found for 
the height and side to side location, tighten the two M8x12 bolts into the U bracket with the license 
plate bracket in between using a 5mm hex wrench.  If you need to make adjustments to the angle, you 
can loosen the U bracket M8x25 bolt and retighten.  

 
  
5.  When the desired location of the bracket is chosen, tighten all three adjustment bolts using a 5mm 
hex wrench.   
 
6.  Now it is time to mount the plate.  If you are using a license plate frame, use the M5x12 screws and 
tighten them down with a 3mm hex wrench.  If no frame is used, use the shorter M5x6 screws.  

 
 
 

Please contact us if you have any questions during installation. 612.379.0000 or sales@grimmspeed.com. 
AIM: GrimmSpd / MSN:  grimmspeed@hotmail.com 

Thank you for your purchase! 


